Mesures CE2
euros

Convertis en

ex : 550c = 500c+50c =5€50c¢

Mesures CE2
euros

Convertis

ex : B50c = 500c+50c =5€50c

euros

590c = ............ €
840c = ............ €
620C = ............ €
770C = ............ €
940C = ............ €

ex : B50c = 500c+50c =5€50c¢

euros

............ €.eeeelC S590Cc = €
840c = ............ € e C 840c = ............ €
620C = ............ € C 620C = ............ €
770C = ............ S C 770C = .cceeeeein €
940C = ............ € C 940cC = ............ €

Mesures CE2 Convertis en | Mesures CE2 Convertis

ex : 550c = 500c+50c =5€50c

Mesures CE2
euros

590c = ............ €
840c = ............ €
620C = ............ €
770C = ... €
940C = ............ €

Convertis en

ex : b50c = 500c+50c =5€50c

Mesures CE2
euros

590c = ............ €
840c = ............ €
620C = ............ €
770C = ............ €
940C = ............ €

Convertis en

ex : 550c = 500c+50c =5€50c




